CONCRETING OF SAN MIGUEL-TOMOC GETAFE ROAD, SAN MIGUEL, BOHOL

CONTRACT AGREEMENT No: 2022-625

THIS AGREEMENT, made this ____day of ___NOV 28 2022, 2022 between Provincial Engineer's Office of Provincial Government of Bohol (hereinafter called the "Entity") and <u>C. Jansen Construction & General Merchandise</u> of Poblacion, Danao, Bohol (hereinafter called the "Contractor").

WHEREAS, the Entity is desirous that the Contractor execute CONCRETING OF SAN MIGUEL-TOMOC GETAFE ROAD, SAN MIGUEL, BOHOL hereinafter called "the Works") and the Entity has accepted the Bid for <u>P 4,989,999.99</u> in Four Million Nine Hundred Eighty Nine Thousand Nine Hundred Ninety Nine Pesos and Ninety Nine Centavos Only by the Contractor for the execution and completion of such Works and the remedying of any defects therein.

WHEREAS, Project shall be completed in **60 Calendar Days** in accordance with the provisions of the Bid Documents;

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Agreement, viz.:
 - a. Philippine Bidding Documents (PBDs);
 - i. Drawings/Plans;
 - ii. Specifications;
 - iii. Bill of Quantities;

Activity No.	Description	Unit	Qty.	Unit Price	Amount
A.1.1 (3)	CONSTRUCTION OF FIELD OFFICE FOR THE ENGINEER	L.S.	1.00	22,410.26	22,410.26
B.4(1)	CONSTRUCTION SURVEY AND STAKING	KM.	0.30	42,700.00	12,810.00
B.5	PROJECT BILLBOARD/SIGNBOARD (8' X 8')	EACH	1.00	7,912.28	7,912.28
B.7	OCCUPATIONAL SAFETY AND HEALTH PROGRAM	L.S.	1.00	6,710.00	6,710.00

Four.	Million Nine Hundred Eight Nine Pesos and Ni			d Nine Hun	
TOTAL AS BID AS READ			>>>>	P 4,990,000.00	
	L AS BID AS CALCULATED	 	>>>>	2,816.15	11,264.60 4,989,999.9 9
SPL	PEO RROW MARKER	EACH	4.00	2 216 15	11 264 60
624(1) A1	SINGLE ARM POST (6M.) SOLAR LED STREET LIGHT, 50 WATTS	SET	5.0	72,250.50	361,252.50
506(1)	STONE MASONRY(LINE CANAL, HEADWALLS, APRONS, WINGWALLS & PARAPET)	CU.M	17.04	5,000.00	85,200.00
500 (1) A3	PIPE CULVERTS 910MM DIA, CLASS II RCPC	IN.M	9.0	6,135.00	55,215.00
311(1) C1	PORTLAND CEMENT CONCRETE PAVEMENT(UNREINFORC ED),-0.23M THK,14 DAYS	SQ.M	1,830.30	1,818.49	3,327,836.70
200(1)	AGGREGATE SUBBASE COURSE, 0.20M.THK.(INCLUDES SHOULDERING)	CU.M	711.0	1,134.00	806,274.00
105(1) A	SUBGRADE PREPARATION (COMMON MATERIAL)	SQ.M	1,265.36	21.25	26,888.90
104(2) A	EMBANKMENT FROM ROADWAY EXCAVATION	CU.M	62.21	305.00	18,974.05
103(6) A	PIPE CULVERTS AND DRAIN EXCAVATION(COMMON SOIL)	CU.M	49.26	305.00	15,024.30
102(2)	SURPLUS COMMON EXCAVATION (ROADWAY & SIDE DITCH)	CU.M	816.46	190.00	155,127.40
101(4) A2	REMOVAL OF ACTUAL STRUCTURES/ OBSTRUCTION,(760MMØ RCPC)	I.M	8.00	585.00	4,680.00
100(1)	CLEARING & GRUBBING	SQ.M	1,200.0	21.35	25,620.00
B.9	MOBILIZATION/ DEMOBILIZATION	L.S.	1.00	46,800.00	46,800.00

Page 2 of 4

- iv. General and Special Conditions of Contract;
- v. Supplemental or Bid Bulletins, if any;
- **b.** Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted; Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation:
- c. Performance Security;
- d. Notice of Award of Contract and the Bidder's conforme thereto; and
- e. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- 3. In consideration for the sum of Four Million Nine Hundred Eighty Nine Thousand Nine Hundred Ninety Nine Pesos and Ninety Nine Centavos Only or such other sums as may be ascertained, Ms. Cheryl Jansen C. Vitor agrees to CONCRETING OF SAN MIGUEL-TOMOC GETAFE ROAD, SAN MIGUEL, BOHOL, in accordance with his/her/its Bid.
- 4. The **PROVINCIAL ENGINEER'S OFFICE** agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.
- 5. In consideration of the payments to be made by the Owner to the Contractor, as earlier mentioned, the Contractor hereby covenants with the Owner to implement and complete the Project in conformity with the provisions of the Contract, the documents incorporated herein and the laws and regulations made integral parts hereof.
- 6. The Owner hereby covenants to pay advance payment to the Contractor of 15% of the total contract price upon approval of the Contract, issuance of Notice to Commence Work and the posting of irrevocable standby letter of credit of equivalent value. The Contractor hereby covenants to repay advance payment to the Owner by deducting 15% from his progress payment.

IN WITNESS WHEREOF, I ha	ve hereunto set my hand and affixed
my notarial seal this day	ofNOV 2 8 2022 2022 in
TAGBILARAN CITY, Philippines.	
PROVINCIAL GOVERNMENT OF BOHOL APPROVED	C. JANSEN CONSTRUCTION &
BY: BY AUTHORITY OF THE YOU ERNOR	GENERAL MERCHANDISE
BI:	BY: (Contractor)
Jun	
ASTERIA C. CABERTE	The state of the s
ERICO ARISTOTLE C. AUMENTADO	MS. CHERYL JANSEN C. VITOR
Governor 1 P	Proprietor
J.M.	Tiophictor
// /	
WITNESSE	ES:
CAMM. A	Lym .
WIINGP	JUNDHEL C. ORA PA
ENGR. CAMILO L. GASATAN	JUHDHEL C. OKA PA
End User	Contractor
ACTIVOUR DO	
ACKNOWLED	GMENT
REPUBLIC OF THE PHILIPPINES)	
DDOMINGE OF) S.S.
TAGBILARAN CITY	7 5.5.
Personally appeared before r	ne, Erico Aristotle C. Aumentado
representing the Provincial Government of	
and Ms. Cheryl Jansen C. Vitor with P	
Registration Number 0098504, Registrat	
until February 22, 2023 known to me to	
the foregoing instrument consisting of fou	r (4) pages including this page upon
which this acknowledgement is written,	
witnesses on each and every page thereof	, and they acknowledged to me that
the same is their free act and deed.	
IN WITHEOU WITEDEOU II.	1 1 1 7 1
	ve hereunto set my hand and affixed
my notarial seal this day TAGBILARAN CITY Philippines.	of $\frac{100}{2}$ 8 2022, \ 2022 in
	N. 4
Doc. No. 197	Valetimi
Page No. 40	ATTY ED MINISTER
Book No. IX	ATTY. ED MICHAEL E. SUPREMO
	NOTARY PUBLIC COMMISSION UNTIL DEC. 31, 2022 (B.M. NO. \$795)
	PTR NO. 0982381,1-11-22
	IBP NO. 097028
시간 시간 [10] 사이스(10] 사람들이 나를 타기했다.	ROLL OF ATTORNEY'S NO. 64084
열리 전에 선거선체 교리 시경보다 네란	NGS NO. 2019-64: TIN NO. 284 756 695 000